Mathematics

. 45% of 640 + 64% of 450 =? % of 1440
640 T 45% + 450 T 64% = 1440 T ? %

A. 54 ' .B. 40
C. 45 ‘ D. 50

. What percentage of 40 should be added to 40 to make it 507

40 FY 50 FT & T 3TH 40 1 fhder gfaerg Sier e arfgu?
A. 15 B. 25
C. 75 D. 80

. If 6 is 50% of a number, what is the number?
I 6 U G&AT HT 50% &, AT T&ATFATE?

A. 10 B. 11
C. 12 D. 13

. What is 7% equal to?

7% foraeh SqeT &7
A. 0.007 : B. 0.07
e 0. 74 , D. 7

. Speed of a car is 60 km/hr. Distance covered in 1 Ya'hours is .........
TS HR HT I 60 FRAVECT gl 1% ae ATT RIS ...

A. 60 km. B. 65 km.
C. 70 km. D. 75 km.

. If one side of a square is 35 m, then the areais .......

I U et 1 Tk 7T 35 Y B, ol SHH &ITRA G ...

A. 1252 m? B. 1225 m?
C. 1252 m D. 1225 m




7. What is the unit of volume?

IR Y SIS FAT 872
A. square units B. cubic units
9 SHEA B gehTea
C. only unit D. None of these
et TS oo & S
8. 1010gram=......... kg
1010 TTH = ......... femar|
A. 10.10 kg. B. 101.0 kg.
C. 1.001 kg. D. 1.01 kg.

9. A cycle is bought for Rs. 900 and sold for Rs. 1080, find the gain percent?
us arefde 900 F9 A @i W 1080 9 A 4y ST ¥, aret wfaera A e

A. 10% B. 20%
C. 30% D. 40%

10. The cost price of 20 articles is the same as the selling price of x articles. If the profit
is 25%, then the value of x is:

\ 2oa¢§3ﬁwmqw,xa¢§ﬁ$ﬁwn@$w%‘|zr%mxzsl’/o%‘,a’rxa:mm
g
A. 15 'B. 16
C. 18 D. 25

11.A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. What is the selling
price of the cycle?

Teh HTGHT 1400 mﬁwmﬁm@ﬁmaaﬂwsﬁw%ﬁmﬁmm%l arsfere
&1 AT Aed FAT87?

A. Rs. 1090 B. Rs. 1160
C. Rs. 1190 D. Rs. 1202




12.1f Rs. 4 becomes Rs. 10 in 50 years at simple interest, the rate of interest p.a. is-
I WIROT ST 9T 4 $9% 50 auT #F 10 T g Sl &, v ey ay sarst T eI 2-

A 5% B. 2.5%
C. 6% D.3%

13 If Rs. 460 amounts to Rs. 640 in 6 years, what will it amount to in 2 years at the
same interest rate?

a2 6 gst & ©. 460 FY TR T. 640 &) ST &, AT HATT sITST 2T 9T 2 a9t & gy Ui
F7 grafr?

A. Rs.520 B. Rs. 585
C. Rs. 700 D. Rs. 640

14.There are 20 divisions in 4 cm of the main scale and vernier scale has 10 divisions.
The least count of the instrument is

Eg 4A & 4 ol A 20 oM ¥ 3R AW THA A 10 AT E, W IHRT £l
HeTdHIS & —

A. 0.05cm B. 0.5¢cm

C. 0.02cm D. 0.2cm

15.Worker ‘A’ takes 8 hours to do a job. Worker ‘B’ takes 10 hours to do the same job.
How long should it take if both A and B working together to do same job.

wﬁ&a‘rAwmaﬁmﬁﬁsdﬁmmmBmmﬁmﬁmﬂ%W%l
AaﬂTBaﬁaﬁwmammngmﬁmﬁﬁmmml
A. g B. 2%

c. 32 D. 4%
9 9

16.A’ does a work in 10 days and ‘B’ does the same work in 15 days. in how many
days they together will do the same work?

A T I Y 10 Rt & Far @ 3R B 36T & Y 15 Rt F e 81 3 e 36
1 & frae gt # 2

A. 5days B. 6 days

C. 7 days D. 8 days




17.Express a speed of 36 kmph in meters per second?
36 Frely ofy e & a1 #ex uia Yehs # saFd 72

A. 10mps B. 60mps
C. 78mps D. 11mps

18.The speed of a train is 90 kmph. What is the distance covered by it in 10 minutes?
T &7 &1 97T 90 TRl Uy Tt ¥1 36 ganT 10 fAwe 7 7 1 I gl foeetr 67

A. 15km B. 13km
C. 11km D. 05km

19. A train 240 m in length crosses a telegraph post in 16 seconds. The speed of the
train is-

240 Fiex ot T 27 16 Yehg 3 T ST TS T IR FA 81 ¢l B 31Tl &-

A. 50kmph B. 52kmph
C. 54kmph. __ ' D. 56kmph

20.The monthly incomes of 5 persons are 3000, 5000, 4000, 2000 and 6000. Their
arithmetic mean should be

5 =afFaat € AT 37T 3000, 5000, 4000, 2000 31X 6000 &1 3T FHTCI AL
gler TTfgT-

A. 4000 '~ B. 6000

C. 5000 ‘ D. 3500

21.The average of all observations in a set of data is known as-

20T & UF A & GHY 3aaal I 3. ¥ 9 & AT AT B
A. Median / ATTETT B. Range / TIAT

C. mean / #ATEY D. mode/&@?ﬁ




22. A man walking at the rate 3 km/hr crosses a square fieldldiagonally in 1 minute.
What is the area of the field?

smﬂmﬂﬁwﬁrﬁaﬂﬁmwwﬁmﬁmﬁwaﬁw:ﬁmﬁmw
AT §1 AT T &TTH FIAT 572

A. 1000 m? B. 1250 m?

C. 2500 m? D. 5000 m?

23. The volume of a hemisphere of radius r is: ‘

T AT I 3T fordeh BT r g
A. 43T - B. 4mr

C. o D.24mr

24. The radius of a sphere is 2r, then its volume will be
T s 1 Frean 2r €, A 3HEI AT gIT-
A. (4/3) Tr° B. 4t
C. (8/3)mr D. (32/3) r®

25 The base area of the cylinder is 80'sq.cm. If its height is 5cm, then its volume is

Wa:ranwa%awsoaﬁ@#r%mﬁgaﬁémésmﬁ%,ﬁmm%-

A. 200 cu.cm B. 80 cu.cm
-C. 100 cu.cm i D. 400 cu.cm
Answer
1. B 2. B 3. C v 4. B 5. D
6. B - 7. B 8. D 9. B 10.B
11.C 12D 13.A 14.C 15.D
16.B 17.A 18.A 19.C 20.A

21.C 22.B 23.D 24.D 25.D




